B.A/ B.Sc. 5th Semester (General) Examination, 2021(CBCYS)
Subject: Economics
Paper: GE-1
(Basic Economics)

Time : 3 Hours Full Mark : 60

The figure in the margin indicates full marks.
Candidates are required to give their answer in their own words
as far as practicable

wiwd ey Aeefe sjfue o |
AArwdiora ISR eEe o Sed fute 2@

1. Answer any six questions: 5x6=230
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a. Explain diagrammatically the relation between total utility and marginal utility.
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b. What is budget line? How is it derived?
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c) Briefly explain the properties of the Keynesian consumption function.
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d) Explain the concept of substitution effect with the help of a suitable diagram.
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e) Briefly explain the concept of income elasticity of demand.
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f) Distinguish between GDP and GNP.
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g) Explain the features of market under monopolistic competition
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h) Explain any one method of measuring National Income.
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. Answer any three of the followings: 10 x 3=30
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. Define indifference curve. Explain its characteristics.

ters@dR Aeel wie ([FHeerw @ B el SeEna st

Explain diagrammatically the methods of drawing the short run total cost curve.
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Show how the elasticity is measured at any point of a demand curve with a suitable

diaagram.
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Explain the concept of circular flow of income with the impacts of injection and

withdrawal in it.
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. What do you mean by effective demand? Demonstrate how the equilibrium income of
a nation is determined in the Simple Keynesian Model.
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